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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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G3-2
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G3-2

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

07:05 254 100.0 2.16 F[ BRi1%e07:05 Bz (GRAERE)
08:00 254 100.0 2.16 =] {BRi%e08:00 B (RFAEREE)
08:55 254 100.0 2.16 =] {Ri%e08:55 B (RFA{EREE)
10:10 254 100. 0 2.16 | {Ri8010:10 Bah CGREHEERSE)
11:25 254 100.0 2.16 =] BRigei11:25 B (GREAERSE)
12:40 254 100.0 2.16 =] Ri%e12:40 B (RFAEREE)
13:50 254 100.0 2.16 | 1Ri%e13:50 Bz (RAERE)
14:55 254 100.0 2.16 =] {Ri%ei14:55 B (GREAERSE)
16:10 254 100.0 2.16 =] Ri%e16:10 B (RFA1EREE)
21t 2286.0 (90%) 900. 0 IHKEC: 2250, PH: 6.5

EORGEBBT SR AR B2 (254 vs 169.0))

2RI\ L PRIERE150. 0 ml.
MERFEREH B9IE S, i &3 &PHA B 46.5,10.3,6.5, REKX
REREERIPH (10.33) 5iEEPH (6.5) REK K, HHRE
BEXRERIPH (10.33) 5FMPH (6.5) REK K, HRE

REE NS K RPH 6.5

#H[ERECE (2537.0 vs 3647.0) RS
REVE NS KFIREC 2250.0
LORGEBIPH (10.2) 5i&%E{E (6.5) RERK, BERE.
LOREBIPH (10.2) S5HREIEN (6.5) RERK, HRE.
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G3-2_0, Day=30 (2025-06-11)
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G3-2

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

07:00 197 100.0 2.16 F[ BRi%e07:00 Ba1 (GRAEREE)
08:00 197 100.0 2.16 =] {BRi%e08:00 B (RFAEREE)
09:00 197 100.0 2.16 =] {Ri%@09:00 B (RFA{EREE)
10:00 197 100.0 2.16 = RRi%0@10:00 Bah (RAEESE)
11:00 197 100.0 2.16 = BRi%e11:00 B (REAERESE)
12:30 197 100.0 2.16 =] Ri%e12:30 B (RFAEREE)
13:50 197 100.0 2.16 = Ri%e13:50 B (REA{EREE)
15:00 197 100.0 2.16 =l RRiB@15:00 B (RFAEEE)
16:25 197 100.0 2.16 =] Ri%e16:25 B (REA{ERE)
2it[1773.0 (9%) 900. 0 IHKEC: 2250, PH: 6.5

RGBT R IRAREZ N (246 vs 161.0))

ZRIASLPRIERE153. 0 ml.
MEXMEREHB9IRE, i R iFHRPHA 5I46.5,10.3,6.5, REK KX
REXRERIPH (10.33) H5igEPH (6.5) REKK, HRE
BEXRERIPH (10.33) 5FMPH (6.5) REK K, HHRE

BRGNS K RPH 6.5

#[ERECE (2635. 0 vs 3830.0) RS
B2 S R FHIREC 2250. 0
ERGEBREC (2613.0) SR (2250) REK K, BFRE.
ERGEBPH (10.4) 5% EE (6.5 REKK, BRE.
ERGEBIPH (10.4) S5REEIN (6.5) RERK, BHRE.




G3-2_0, Day=29 (2025-06-10)
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G3-2

BrE) | GEBERTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

06:50 194 100.0 2.16 FA| {Ri%@06:50 Bz (kAMEEE)
09:25 194 100.0 2.16 |Z=| {Ri%e09:25 Bz (KREAEZEBE)
12:10 194 100.0 2.16 |Z=| {Ri%e12:10 Bz GGREAZEBE)
14:25 194 100.0 2.16 FH| {Ri%e14:25 Bzh (RAERESE)
Bit| 776.0 (4%) 400.0 EWGHIKEC: 2430, PH: 6.5

EIREBRIHCRIRAREIZI (194 vs 161.0))

ZRIASLPRIERE120. 0 ml.

MERMEAEHB9IRE, i B RPHA B 46.5,10. 4, 6.5, REWRK
RERERIPH (10.36) 5i&EPH (6.5) REK K, HFRE
BEXREBIPH (10.36) 5FMPH (6.5) REK K, HHRE

REE NS K RPH 6.5

#H[ERECE (2703.0 vs 4033.0) RS
REVE NS KFIREC 2430.0
LRGEBIPH (10.4) 5i8%E{E (6.5) RERK, BERE.
LORGEBIPH (10.4) S5REIEN (6.5) RERK, HRE.
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